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Itched . p④
L

? P initial point
. Q

Notation :

Q terminal point

-

scatmbermhcahofectorsle.to
be a scalar and it be

a vector .

If c > O
,

then CT is the vector

pointing in the direction of it whose

length is c times the length of I
.

If cc O
,

then c I is the vector

Pointing in the opposite direction

of it whose length is Icl times the

length of E
.

If C = O
,

then CT = OF =
.
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Subtracting :

it - J
'

is defined as It f - El
.

-

f
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Defy Two vectors are parallel P④

if they are a scalar

multiple
of each other ,

-

7 I
' and in

'
are⇐

If - parallel since

I D=
2J

J
' and in

'
are parallel

since
ii =

- I
.

-

⇐ iif ,
not parallel
not multiples

A each other
-

-



In a coordinate system ,
P④

we can place a vector so that

its in Aal point is the origin .

This is called the End

position of a vector .

F
n 't ca ,

b ) is the →

terminal point of v

y•abl
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then"Tdw7¥ro"

non

I = La ,
b > .

✓
Two vectors ive Lai ,

b
, > and z

-

-
Laube ?

are eye if  and only if a ,
= au

andbi=bc##÷i÷÷:÷÷÷÷÷÷÷÷÷÷÷÷÷÷:::
afazgb ,

= bz
,

Cf Ca .



Magnitude p④
In 2nd ,

if J
'

= ( a ,b7 ,
then its

magnitude ,
denoted by IVY or HEH

,

is IT't = tab

In 3d
,

if in = La ,
b

,
c >

,
then

its magnitude ,
denoted by Intl

or Hui 'll ,
is Intl = TATE

Eiii.
"

=L I
,

2,37

It 'kTEt5=T4



Adding
,

subtracting ,
scalarmulti . pg④

-

"
Kang

④ I =L a ,b7 ,
E- Leif } Lisa

,
it = Late ,

btf ? 9kg

J
'

- Ju = La - e ,
b - f 7

LV = L La ,
Lb >

-

④ I = Ca ,
b

,
c)

,
= Ce ,

f
, g >

x is a scalar

Ftir = Late ,
b tf

,
Ctg >

J - in = La - e
,

b - f
,

c - g >

LJ=&a,Lb
& ← alpha

greek letter



EX ! a pg①
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C- 6
,
-31 th - 3) f
J =L 2,17

in =L - I
,

-37

Ftw ( 2- I
,

I -37=4 , -27

25=52.2 ,
2 . I > = L 4,2 )

- 3J
'

= C - 3 . 2
,

-3 . I > =L - 6
,

-37


